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Name:

Minute 15

 1. 10 – −5  =

 2. 4(3 – 8) =

 3. 12 – 20 =

 4. 4 100•  =

 5. ( )( )− −

−

8 2
8

 =

 6. Based on the number line, which numbers are identified?
   a. All numbers bigger than –3 and smaller than 3
   b. All numbers between –3 and 3 including –3 and 3
   c. All numbers bigger than 0
   d. All numbers less than 3

 7. –3 > –5   Circle: True or False

 8. A negative (–) divided by a negative (–) equals a ___________________________.

 9. 62 = (– 6)2 Circle: True or False

 10. Complete the table on the right by finding x.
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